
Spiel 1 Spiel 2 Gesamt

Spiel 001 19:25 A 1 HINTERSTEINER Hubert 56 + 64 = 120 #

A 2 JURKOWITSCH Thomas 48 + 48 = 96 O

Spiel 003 19:41 A 3 HAHN Ernst 61 + 57 = 118 # # # #

A 4 TEMPER Manfred 60 + 54 = 114 O #

Spiel 005 19:58 A 5 JURKOWITSCH Marcel 60 + 68 = 128 # #

A 1 HINTERSTEINER Hubert 62 + 53 = 115 O O #

Spiel 007 20:14 A 2 JURKOWITSCH Thomas 44 + 54 = 98 # #

A 3 HAHN Ernst 60 + 53 = 113 O #

Spiel 009 20:32 A 4 TEMPER Manfred 56 + 55 = 111 O # O

A 5 JURKOWITSCH Marcel 55 + 50 = 105 O

Spiel 011 20:50 A 1 HINTERSTEINER Hubert 63 + 62 = 125

A 3 HAHN Ernst 56 + 62 = 118 # O O O

Spiel 013 21:09 A 2 JURKOWITSCH Thomas 56 + 58 = 114 #

A 4 TEMPER Manfred 62 + 65 = 127 # # O O

Spiel 015 21:27 A 3 HAHN Ernst 59 + 63 = 122 # # #

A 5 JURKOWITSCH Marcel 46 + 43 = 89 #

Spiel 017 21:46 A 4 TEMPER Manfred 53 + 59 = 112 #

A 1 HINTERSTEINER Hubert 57 + 53 = 110 #

Spiel 019 22:03 A 5 JURKOWITSCH Marcel 56 + 55 = 111 #

A 2 JURKOWITSCH Thomas 46 + 35 = 81 #


